N = 0l & At & Ml A

20149 & 20l & LEHSIH A
= S R=n
Ba: 2o B
S NN (&2 &)
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
Ml 329,198 310,603 18,595
= 22| 275,276 267,786 7,490
XAl =S 128,416 116,077 12,339
ME22SH 128,416 116,077 12,339
201 LEt2 Y| 88,640 75,514 13,126
01 AR 22| I 25,740 24,854 886
OXNLM DXA L 2 U
80,000 * 20&fA 1,600
OF=s&E ¢ 220,000& *» Bt A 1,320
OS=UsiM 4% 289 849
60,0003 * 404 A 240
ONALER EE2=2 L MAIOHY 1,500
OLDXNAN DEHEEHI RAES
240,000 = 12& 2,880
OLDXNAMN DEEHI| 2285 7Y 4,260
oc&El 360,000& * 40H 1,440
o @ 20| = 220,000& = 34 660
o3 720,000& * 3H 2,160
OJtAHZ = AAE 2dSSPG FANES
100,000& * 128 1,200
OJMHZAIAE S22 222,500& + 12& 2,670
OXYAM AEIE - JIAHE =2
100& = 20,0004 2,000
OXEAM TV Attt E2H| 1,100,000 * 63l 6,600
O9Ies +< 1,470
oXIgMAARJLE 70,0008 * 7H * 33 1,470
02 3524t 62,900 50,660 12,240
o232 ¢ MA 62,900
oM Y HE HUI L&
1,700& = 37,0004 62,900
202 04| 12,150 12,150 0
01 2LHHI 12,150 12,150 0
OFUXE EA 81,000& » 5% x 2 x 153] 12,150
301 dEtEAZ 2,700 0 2,700
11 IIEtE &2 2,700 0 2,700
O84 ¥ 23 SAL AlAZS 2,700
306 EH= 2,700 2,500 200
01 &= 2,700 2,500 200
OXNLMARA XNTANEHIS EHZ 2,700
403 X SHHMS K201 20,816 24,503 N 3,687
02 3J|2 S 0l CH St CH = AF B 20,816 24,503 N 3,687
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2N
X ZH -
L= B

el

K- EH3 B (3H) - HSAY - Ba2 il HDS2
OEZ=XYUAM EEAIAE S22 13,658
OSE XA HBEBAALE S22 4,886
Oxd 2AMAE KX 22 2,272
405 XtabF SHI 1,410 1,410 0
02 & A7 1,410 1,410 0
OMEBYERF=A HAE 2 1,410
oXlYA BHEE 35,000& * 243A 840
oXIgME Haed 95,000& * 63 570
XA Mol 2tel 40,966 53,488 N 12,522
NeA Mg &= 40,966 53,488 N12,522
201 L2 A Y| 24,546 36,468 AN 11,922
01 AR 22| bl 21,840 33,744 A 11,904
OMEMH DN & e 2
80,000& = 30&8tA 2,400
O UREs 840
60,000& * 50 * 43| 1,200
OdteEasd =5 50,000,000 * 2/100 1,000
OMEgXNE =& 8,000& * 1,00021 8,000
OBSEAX AlAE X122
330,000& * 12& 3,960
O&XZ ¢dF A 22 5,280
opNE2AE XSG MHIA 220,000 x 12& 2,640
oM=L F Z2AIAE
220,000 = 12& 2,640
02 332494l 2,706 2,724 AN 18
O332=2 % HA 306
o XS XHAl 306
O Xtk = Xl gl 200,000& = 12& 2,400
202 04| 11,420 12,020 A 600
01 2L Y| 11,420 12,020 A 600
OMEHE+ HRE=X 20,0003 * 6 x 49 5,880
OHIAZMHEZ2 =& 81,0008 * 28 = 103 1,620
OMYE X HasTAX 10,0003 * 8% x 49 3,920
303 A2 5,000 5,000 0
01 ZAaZ 5,000 5,000 0
OXNgHE x> LAZ 250,000,000& = 2/100 5,000
2 XA 16,350 16,350 0
XA MR A 8,800 8,800 0
201 et A b 500 500 0
01 AFR22t2ldl 500 500 0
OXEA ASEAFA 2,500& * 2005 500
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2AM: N2
mE: 49 el
S MR ZA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 o4dl 5,300 5,300 0
01 = LH o4 1l 5,300 5,300 0
ONSZAL G2F2 5,300
303 &3 3,000 3,000 0
01 L& = 3,000 3,000 0
ONE=3d Z&= 60,000,000& * 5/100 3,000
AA R0 = 7,550 7,550 0
201 £Br2%H| 6,450 6,450 0
01 At 22l 6,450 6,450 0
OXsSXtAl EHM2RA
80,000& = 158rA + 23] 2,400
OXNSXN E§5 82 9
60,0003 * 100HA * 23] 1,200
OXNSIAH e U2 80,000& = 52tA 400
OF2A EADXA 80,000& » 20&FA 1,600
OFOUN g2 22 4
60,000& * 100HA * 13 600
Otz &=F 125,000& » 29 A 250
202 O4dl 1,100 1,100 0
01 = LH 4 1l 1,100 1,100 0
OANMS =2 1,100
E 22 36,030 42,397 26,367
THAEA 2 & == 9,080 8,760 320
201 LBt 5,000 4,680 320
01 At 22l 5,000 4,680 320
OMLtAl €8 82 S99
0,000& * 100HA = 23] 1,200
OM&AN &2 2tUH=2
80,000& = 20=tA * 23] 3,200
ODIZA ZEFE 25442
2,000& » 300& 600
202 o4dl 4,080 4,080 0
01 = LH o4 1l 4,080 4,080 0
OMAA 20 o2 =2 4,080
g =& DA XA 26,950 33,637 A6,687
201 et 24,550 24,550 0
01 At 221l 24,550 24,550 0
OMEFHINAZA 2EL4E
5,810& = 3,000& 17,430
OMEFeIAES B2
60,000& = 10 = 23] 1,200
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2AM: N2
mE: 49 el
Chelr DtE 22 (=& J)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SE ISP EEEREES;
70,000& = 118 = 23] 1,540
OMg =Dt AFXE Z208 FA2a
365,000& = 12& 4,380
202 oddl 2,400 2,400 0
01 = LH o4 1l 2,400 2,400 0
OMg=edtz ge2za
20,0003 = 2% = 60 2,400
N el S 53,514 39,474 14,040
Ne=g2el24d 53,514 39,474 14,040
201 ¢er24| 14,740 10,500 4,240
01 At 22/l 14,740 10,500 4,240
OAMe=2 M 12XAM
80,0003 = 9%tA «+ 23] 1,440
oM+ ==F 80,000& = 3=tA * 23] 480
OesI 223 100,000& * 10CH * 12l 1,000
ON2+=g S8 2U=2
80,000& = 10&FA « 23] 1,600
OXYALs ABIHEL4E
330,000& = 123 3,960
OJRHAAEE FH&+H
70,0003 = 78 « 23| 980
O&tl= 27 wA 22 5,280
oM EEHE X3 AMHlA 1,320
oM=L FT 2elAlAE 3,960
202 O4dl 4,374 4,374 0
01 =L 4 Hi 4,374 4,374 0
OM=+=g HREFA
81,000& = 3F * 2& » 93 4,374
303 L&t 3 7,000 4,000 3,000
01 243 7,000 4,000 3,000
OM2I+2 M HA=  233,330,000& * 3/100 7,000
403 MtXISHHE X201 E 20,500 16,000 4,500
02 3|25 0l CH 8 CH 2 At & HI 20,500 16,000 4,500
OMe=g=EZ2d FANE> 20,500
405 XtatE SHI 6,900 4,600 2,300
01 THatH EZFH S 6,900 4,600 2,300
OesEsd #¢ 2,300,000& * 3CH 6,900
HY2FZH (MR) 53,922 42,817 11,105
Jl= &l 32,832 32,832 0
Jl=dl 32,832 32,832 0
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DN

DN

A2 IH(MR)

cJl2dhl ?HA)
SH-HH . B(SH) - HBAMY - B2 o A o il 2
201 et A | 26,712 0
01 AFR2t2ldl 26,712 0
OfM2g JI=238tl 250,000& = 12& 3,000
OANEEE RAU(SAX S) 200,0008 » 128 2,400
OHMHFARII] 228 2
300,000& = 12CH = 23 7,200
OZ2 &l 7,000& * 24Y x 7 * 128 14,112
202 04| 1,920 0
01 2LHOHI 1,920 0
Oblaz22 2l 1,920
203 g R =&H| 4,200 0
04 2SI L RF=AH| 4,200 0
ORANBELERFAH| 350,000& x 12& 4,200
ol 2| 21,090 11,105
CladA Y| (A1) 21,090 11,105
101 @121 21,090 11,105
03 2INHAZZXHE %= 21,090 11,105
OMEFEINAXIA 2 2XNES 21,090
SR 41,8003 * 1% = 250 10,450
SPRGE= 10,450,000 = 4/12 3,484
cHIFR=FIIHY 41,800 + 19 = 15 627
S EEEEEN
7,838& * 1Y + 10A12+ = 12& 941
oFFLE 41,800 * 1Y = 53¢ 2,216
oA F Ity 400,000& * 14 = 23] 800
o428 E 90,000& * 1€ = 12& 1,080
o g &l 80,000& » 1% = 12& 960
o X RI&H| 17,718,000 = 3.0/100 532
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